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> Linearized knot diagam

(\11
C\ A~

3 5 8 6 2 11 4 1 12 7 10 9

\/\ Solving Sequence
N9

611»27% — —> — — — -> — C3,Cg, C
A knot diagrarrl ce | cs 5 Co 3 cr 1 ca 4 P 801 001112 9 —> €3, Cs, C12

Ideals for irreducible component#ﬂ)f Xpar

I = (—u®® 4+ 2u% - 20— du, v =205+ 4201, WP =3+ —Bu+1)

Iy = (WPa+u* +b, —v’a—u®+a*+au+u+a—u, u4—u3+u2+1>

* 2 irreducible components of dim¢ = 0, with total 66 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI} =
(—ub®+2uPS+. .- +2b—4u, u*—2u%+.--+2a—1, uP®—-3u®"+...—3u+1)

(i) Arc colorings

0
ailr = \u
az =\ —u% 4 ... = 2u? +2u
1
a7: _u2
—u57—|—5§u56+ —|—%u—%
as = \—u’T+ 5uS0 + - 4 Hu? —u
( 2uP8 — 2455 + . -+1%u—% >
= 57 | 7,56 7,2
as —2u" + U 4+ Fut —u
—uT — 203
a1 = \¢? +u"+3u’+2u+u
—2uPT + 455 + -~+Qu—%
ay4 = _U57—|— 5u56+ +%?u2_u
w4+ 3u® +u
ag = \ —yt — % — 44" —3u® -3 —u
—u
a0 = \u® + u
—u3
a1z = \wd + v +u

—u® —u
ag = \u" +ud+2ud +u
(ii) Obstruction class = —1

(iii) Cusp Shapes = — L2457 + 1205 ... — 3y — 1



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy W+ 17w+ +49u + 1
C2,Cs uP 5Tt
3, Cr u?® — w7 4 .-+ 384w + 256
Cg, C10 W =3+ —3u+1
C87C9721; w11+ £ 2lu 4+ 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4 Y8 453y + ... — 451y + 1
2,5 Y 1Ty 49y + 1
3,7 y°8 + 45y°7 + .- + 475136y + 65536
C6, C10 Y 11y 21y + 1
08,09,2; YO8 £ T5y57 - 4By + 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} v—1(vol + /—1C5) Cusp shape

0.236171 + 0.9668291
—0.773305 + 0.4328841 2.58788 — 0.062341 | —2.29623 — 1.174601
—0.777739 + 0.8423091

0.236171 — 0.9668291
—0.773305 — 0.4328841 2.58788 4 0.062341 | —2.29623 + 1.174601
—0.777739 — 0.8423091

—0.789321 + 0.6035821
1.49361 — 0.381051 8.82733 — 0.533381 | 4.24509 + 1.904107
—0.866625 + 0.8101951

—0.789321 — 0.6035821
1.49361 + 0.381051 8.82733 4+ 0.533381 | 4.24509 — 1.904107
—0.866625 — 0.8101951

= —0.557363 + 0.8398391
= —1.49324 — 1.387191 0.27509 — 5.533471 | —2.68605 + 8.820671
0.257230 — 1.0602601

—0.557363 — 0.8398391
= —1.49324 + 1.387191 0.27509 4 5.533471 | —2.68605 — 8.820671
0.257230 + 1.0602601

0.191407 + 0.9733341
0.61484 — 1.910271 2.33477 4 5.751751 | —3.31343 — 6.583811
—0.761623 — 0.9243141

0.191407 — 0.9733341
0.61484 + 1.910271 2.33477 — 5.751751 | —3.31343 + 6.583811
—0.761623 + 0.9243141

—0.650775 + 0.773636.1
= —0.562703 — 0.5010351 | 3.85863 — 2.429651 | 4.20800 + 3.888721
0.694164 — 0.0699621

—0.650775 — 0.773636.1
= —0.562703 + 0.5010351 3.85863 4 2.429651 | 4.20800 — 3.888721
= 0.694164 + 0.0699621

>~ Q@ €|l & €| & €| Q& €| & €| & €| & &> & 8| & 8| & &




Solutions to I} V—1(vol+ v/—1CS) Cusp shape
= 0.621083 + 0.7999211
= —2.68797 + 0.172821 3.02078 + 5.113891 0. —6.571411
= 0.714179 + 0.8952521
= 0.621083 — 0.7999211
= —2.68797 — 0.172821 3.02078 — 5.113891 0.+ 6.571411

0.714179 — 0.8952521

0.641113 + 0.7368851
= —1.05326 4 1.509931
0.727655 — 0.8290911

3.22659 — 0.380051

1.076438 — 0.3814181

0.641113 — 0.7368851
—1.05326 — 1.509931
0.727655 + 0.8290911

3.22659 + 0.380051

1.076438 4 0.3814181

—0.784621 + 0.562056.1

—0.805827 — 0.9784771

8.30451 + 5.681111

3.40199 — 3.191901

—0.784621 — 0.5620561
1.34703 — 0.492501
—0.805827 4- 0.9784771

8.30451 — 5.681111

3.40199 + 3.191901

0.419617 + 0.8314181
= 1.92901 — 0.958061
—0.048744 — 0.737006.1

—1.20572 + 2.001991

—7.02325 — 3.531701

0.419617 — 0.8314181
1.92901 + 0.95806.1
—0.048744 + 0.7370061

—1.20572 — 2.001991

—7.02325 + 3.531701

—0.584881 + 0.6589031
0.148792 + 0.4493031
0.354250 + 1.0349501

U
a
b
U
a
b
U
a
b
U
a
b
U
a= 1.34703 4+ 0.492501
b
U
a
b
U
a
b
U
a
b
U
a
b

0.86366 + 1.173401

0.879783 — 1.1041391

—0.584881 — 0.6589031
0.148792 — 0.4493031
0.354250 — 1.0349501

u

a
b

0.86366 — 1.173401

0.879783 + 1.1041391




Solutions to I}

V=1(vol + y=1C)

Cusp shape

= —0.598169 + 0.9635031
2.16232 + 1.277661
—0.779295 4 0.9964501

6.97066 — 10.765201

—0.598169 — 0.9635037
= 2.16232 — 1.277661
—0.779295 — 0.9964501

6.97066 + 10.765201

—0.627970 4 0.9505671
= —0.095056 + 1.0887901
—0.853835 — 0.7670191

7.67631 — 4.676611

—0.627970 — 0.9505671
—0.095056 — 1.0887901
—0.853835 4 0.7670191

7.67631 + 4.676611

0.071034 + 0.8208751
0.48145 + 2.631731
0.134528 + 0.9046871

—2.92758 4- 1.955951

—11.89625 — 4.8126171

0.071034 — 0.8208751
0.48145 — 2.631731
0.134528 — 0.9046871

—2.92758 — 1.955951

—11.89625 4 4.812611

—0.864927 + 0.8952501
0.697824 + 0.1314041
—0.302360 — 0.6597171

6.57199 — 1.974481

—0.864927 — 0.8952501
0.697824 — 0.1314041
—0.302360 + 0.6597171

6.57199 4 1.974481

—0.851879 + 0.9309521
1.53417 4 0.292831
—0.284323 4 0.6949591

6.46068 — 4.393751

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g

—0.851879 — 0.9309521
= 1.53417 — 0.292831
= —0.284323 — 0.6949591

6.46068 + 4.393751




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u=0.910198 + 0.9201751
a = —0.1069100 — 0.01752191 9.62869 — 0.794991 0
b= 0.318618 — 1.173080/
u= 0.910198 — 0.9201751
a = —0.1069100 + 0.01752191 9.62869 + 0.794991 0
b

= 0.318618 + 1.1730801

u= 0.325035 4+ 0.6212411
a= 0.691818 + 0.0307261
b = —0.045053 + 0.2342861

—0.201748 + 1.1120701

—3.30409 — 5.912041

u= 0.325035 — 0.6212411
a= 0.691818 — 0.0307261
b = —0.045053 — 0.2342861

—0.201748 — 1.1120701

—3.30409 + 5.912041

0.942009 + 0.8986681
= 1.31780 — 0.561481
= —0.811125 + 1.0456701

e
I

17.4170 — 7.16161

0.942009 — 0.8986681
1.31780 + 0.561481
—0.811125 — 1.0456701

17.4170 + 7.16161

0.895499 + 0.9494771
= —1.43215 4 0.426531
= 0.303547 + 1.1752201

9.53363 + 7.451341

= —1.43215 — 0.426531
= 0.303547 — 1.1752201

9.53363 — 7.451341

= —0.914772 4+ 0.9337911
= —1.32356 — 1.260031
= 0.823322 + 0.8920501

12.70460 — 0.291801

= —0.914772 — 0.9337911
= —1.32356 + 1.260031

a
b
U
a
b
U
a
b
u= 0.895499 — 0.9494771
a
b
U
a
b
U
a
b= 0.823322 — 0.8920501

12.70460 4 0.291801




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

0.690394 + 0.0301201
1.39889 +- 0.416741
—0.809868 — 0.8940991

5.73169 + 3.030271

4.19424 — 2.784241

0.690394 — 0.0301201
1.39889 — 0.416741
—0.809868 +- 0.8940991

5.73169 — 3.030271

4.19424 4 2.784241

0.942436 + 0.9092901
1.57800 + 0.377981
—0.942649 — 0.7532651

18.3412 — 0.71191

0.942436 — 0.9092901
1.57800 — 0.377981
—0.942649 4 0.7532651

18.3412 + 0.71191

—0.908706 + 0.9452701
—2.36231 + 0.279161
0.818870 — 0.9039431

12.6670 — 6.42261

—0.908706 — 0.9452701
—2.36231 — 0.279161
0.818870 + 0.9039431

12.6670 + 6.42261

0.914486 + 0.9409891
—1.045780 + 0.4976881
0.892652 + 0.0105391

13.59950 + 3.366191

0.914486 — 0.9409891
—1.045780 — 0.4976881
0.892652 — 0.0105391

13.59950 — 3.366191

0.895550 + 0.9832311
2.40578 — 0.453391
—0.803885 — 1.0498801

17.1389 + 13.91721

0.895550 — 0.9832311
2.40578 + 0.453391
—0.803885 + 1.0498801

17.1389 — 13.91721




Solutions to I V—=1(vol ++/—=1CS) Cusp shape
= 0.903709 4 0.9786991
= 0.66497 — 1.3604171 18.1123 + 7.49711 0
= —0.941425 + 0.7416017
= 0.903709 — 0.9786991
= 0.66497 + 1.360411 18.1123 — 7.49711 0

= —0.941425 — 0.7416011

= —0.138946 + 0.6449311
= —2.02349 — 2.265051
= 0.559591 — 0.9268661

—0.64003 — 2.847601

—8.08127 4 0.143451

—0.138946 — 0.6449311
—2.02349 + 2.265051
0.559591 + 0.9268661

—0.64003 + 2.847601

—8.08127 — 0.143451

0.344616 + 0.3633331
0.547401 — 0.2074471
0.251942 + 0.5776721

—0.068529 4 1.2083801

—0.22566 — 4.755391

0.344616 — 0.3633331
= 0.547401 4+ 0.2074471
= 0.251942 — 0.5776721

—0.068529 — 1.2083801

—0.22566 + 4.755391

= —0.172028 + 0.3784571
= 0.94604 — 1.199281
= 0.483828 + 0.7455631

0.00258 4 1.44884T1

—2.25105 — 5.517451

= —0.172028 — 0.3784571
= 0.94604 + 1.199281
= 0.483828 — 0.7455631

0.00258 — 1.4488471

—2.25105 4 5.517451
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IL. I¥ = (u*a+u?*+ b, —v?a—u*+a*+autu’*+a—u, u* —ud+u?+1)

(i) Arc colorings

as =

az =

ayq =

(ii) Obstruction class =1

(iii) Cusp Shapes = u?a + 4u?a + 2au + u? — a + 6u — 2

11



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,€4,Cs5 (u? —u+1)*
€2 (u? +u+1)*
cs3,C7 u®
C6 (uh = u® +u? 4 1)2
cg, Cy (u* — u® + 3u? —2u—i—1)2
c1o (u* +u® +u? +1)?
€11, C12 (u +u? 4+ 3u? + 2u +1)2

12



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cyq (y2+y+1)4
Cs
C3,Cr 318
Cg, C10 (y4 +y3 +3y2 +2y+ 1)2
Cg, C9, C11 (y4 + 5y3 + 7y2 + 2y 4 1)2
C12

13



(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape

u = —0.351808 4 0.7203421
a= 0.541116 + 0.2149207 | —0.211005 + 0.6147781 | —5.86133 + 2.842731
b= 0.500000 + 0.8660251

u = —0.351808 + 0.7203421
—1.58443 — 1.442111 —0.21101 — 3.444991 | —1.10064 + 8.922281
0.500000 — 0.8660251

—0.351808 — 0.7203421
0.541116 — 0.2149201 | —0.211005 — 0.6147781 | —5.86133 — 2.842731
0.500000 — 0.8660251

—0.351808 — 0.7203421
—1.58443 + 1.442111 —0.21101 + 3.444991 | —1.10064 — 8.922281
0.500000 + 0.8660251

0.851808 + 0.9112921
—0.423047 4 0.2830881 6.79074 4 1.134081 0.90087 4 2.757711
0.500000 — 0.8660251

0.851808 + 0.9112921
= —1.53364 4 0.358111 6.79074 4 5.193851 1.56110 — 7.617221
0.500000 + 0.8660251

= 0.851808 — 0.9112921
= —0.423047 — 0.2830881 6.79074 — 1.134081 0.90087 — 2.757711
0.500000 + 0.8660251

0.851808 — 0.9112927
—1.53364 — 0.358111 6.79074 — 5.193851 1.56110 + 7.617221
0.500000 — 0.8660251

b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing

1,4 (u? —u+ D)MW + 176 + -+ 49u + 1)
C2 (u? +u+ D)MW + 507 + - Fut1)

cs, C7 uB(u®® — w7 4 - -+ 4 384w + 256)
Cs (w? —u+ D) (W + 50 + -+ +u+1)
C6 (u* =+ +1D)H W =30+ —3u+1)

Cs, C9 (u* = ud + 3u® = 2u + 1)) (u®® + 11657 4 - + 21u + 1)
10 (u* +ud +u? + 1)) W =30 + - —3u+1)

c11,C12 (u* 4 u® + 3u® + 2u + 1)%) (u®® 4+ 110°7 4 - + 21u + 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing

c1,ca (P +y+ DY +53y7 + - — 451y + 1)

C2, 5 (P +y+ DN+ 1797+ + 49y + 1)

3,7 yB(y°% + 45¢°7 + - - + 475136y + 65536)

C65 C10 (' +9° +3 + 2+ D) + 1157 + - + 21y + 1)
CS’CQ’ZE ((y" +5y" + 75" + 2y + 1)) (4 + 759" + - +45y + 1)
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